## Bid M4-TTE10 Ended At Mar 13, 2024 10:00:00 AM CDT CONTST/MAPS 4 - M4-TTE10 MAPS 4 Bus Stop Improvements Phase 1

Company:	Atlas Paving Company	CGC, LLC	<b>Connelly Paving Company</b>
BASE BID	\$676,819.00	\$675,802.00	\$699,850.00
ALTERNATE 1	\$64,534.50	\$64,520.00	\$69,317.50
ALTERNATE 2	\$184,881.00	\$205,562.00	\$200,824.00
TOTAL BID:	\$926,234.50	\$945,884.00	\$969,991.50

Company:	Rudy Construction Co.	C-P Integrated Services	
BASE BID	\$832,467.00	\$887,363.75	
ALTERNATE 1	\$70,715.00	\$94,071.75	
ALTERNATE 2	\$225,513.00	\$243,685.75	
TOTAL BID:	\$1,128,695.00	\$1,225,121.25	

Tresha	Williams
City Clerk	

Chad Harrison Purchasing Agent \_\_\_\_\_Tim Alvarez\_\_\_\_\_ Auditor

Potential Bid Defects Noted:

- **#1** Anti-collusion affidavit not properly notarized
- **#2** Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

## Bid #M4-TTE10 - M4-TTE10 MAPS 4 Bus Stop Improvements Phase 1

Creatio	on Date	Jan 26, 2024	End Date	Mar 1	13, 2024 10:00	):00 AM CDT	
Start D	ate	Feb 14, 2024 7:40:21 AM CST	Awarded Date	Not Y	et Awarded		
Atlas	Paving	Company				\$926,234.50	(66/66 items)
Bid Co		Carol McCoin jeffsmith@atlaspavingok.com Ph 405-947-2381 Fax 405-947-3670 OKC PRE-QUALIFIED CONTRACTORS	Ad	ddress	3800 NW 8tł Oklahoma (	h Street City, OK 73107	
Bid Bo		(Status: Authorized on Mar 11, 2024)					
Agency	y Notes:		Supplier Notes:			1	
ltem #	Line Ite	em	Unit	Price	Qty/Unit		Total Price
M4- TTE10- -01-01		BASE BID: SAW CUT - First Offer	\$	525.00	60 / linear feet		\$1,500.00
	ct Code: y Notes:		Supplier Product C Supplier Notes:	ode:			
M4- TTE10- -01-02	BAS	SE BID: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$	510.00	526 / square yard		\$5,260.00
	Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
M4- TTE10- -01-03		BASE BID: MOBILIZATION - First Offer		250.00	102 / each		\$25,500.00
	ct Code: y Notes:		Supplier Product C Supplier Notes:	ode:	1		
M4- TTE10- -01-04	BASE	BID: Construction Staking (Construction Survey) - First Offer		00.00	102 / each		\$10,200.00
	ct Code: y Notes:		Supplier Product C Supplier Notes:	ode:			
M4- TTE10- -01-05	BA	SE BID: Construction Signage and Traffic Control - First Offer		75.00	102 / each		\$181,050.00
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
M4- TTE10- -01-06		BASE BID: Clearing and Grubbing - First Offer	\$	510.00	102 / each		\$1,020.00
	ct Code: y Notes:		Supplier Product C Supplier Notes:	ode:			
M4- TTE10- -01-07	BASE	BID: REMOVE CONCRETE CURB & GUTTER - First Offer	\$	510.00	213 / linear feet		\$2,130.00
	ct Code: y Notes:		Supplier Product C Supplier Notes:	ode:			
M4-	1	BASE BID: REMOVE CONCRETE DRIVEWAY - First Offer		10.00	199 /		\$1,990.00

M4-TTE S 4 Bus	10 - M4-TTE10 City of Ok	lahoma City and s Trusts		
TTE10- -01-08			square yard	
Produc		Supplier Product Code:		
Agency M4- TTE10- -01-09	BASE BID: REMOVE ASPHALT PAVEMENT - First Offer	Supplier Notes: \$40.00	23 / square yard	\$920.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-10	BASE BID: REMOVE LANDSCAPING - First Offer	\$50.00	36 / square yard	\$1,800.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-11	BASE BID: REMOVE/RELOCATE EXISTING SIGNS - First Offer	\$500.00	98 / each	\$49,000.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-12	BASE BID: REMOVE TREES - First Offer	\$1,500.00	4 / each	\$6,000.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-13	BASE BID: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$35.00	100 / square feet	\$3,500.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-14	BASE BID: 4 Inch CONCRETE SIDEWALK - First Offer	\$58.00	2738 / square yard	\$158,804.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-15	BASE BID: 6 Inch Concrete Sidewalk - First Offer	\$95.00	1088 / square yard	\$103,360.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-16	BASE BID: 6 Inch CONCRETE PAVEMENT (H.E.S.) - First Offer	\$85.00	100 / square yard	\$8,500.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-17	BASE BID: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer		1980 / linear feet	\$35,640.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-18	BASE BID: HANDRAIL - First Offer	\$185.00	50 / linear feet	\$9,250.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10-	BASE BID: CURB AND GUTTER (2 foot-6 inch) - First Offer	\$60.00	326 / linear feet	\$19,560.00

Supplier Product Code: Supplier Notes:		
\$20.00	573 / linear feet	\$11,460.00
Supplier Product Code: Supplier Notes:		
\$5.00	1099 / square yard	\$5,495.00
Supplier Product Code: Supplier Notes:	1	
	66 / square feet	\$1,980.00
Supplier Product Code: Supplier Notes:	1	
\$500.00	31 / square yard	\$15,500.00
Supplier Product Code: Supplier Notes:	1	
	29 / cubic yards	\$2,900.00
Supplier Product Code: Supplier Notes:	1	I
	3000 / linear foot	\$12,000.00
Supplier Product Code: Supplier Notes:	I	1
\$10.00	250 / cubic yards	\$2,500.00
Supplier Product Code: Supplier Notes:	1	I
1	1	Lot Total: \$676,819.00
Unit Price	Qty/Unit	Total Price
	9 / square yard	\$180.00
Supplier Product Code: Supplier Notes:		
\$300.00	10 / each	\$3,000.00
Supplier Product Code: Supplier Notes:		
\$150.00	10 / each	\$1,500.00
Supplier Product Code: Supplier Notes:	1	·
	Supplier Notes:\$20.00\$20.00\$20.00\$20.00\$100\$5.00\$20.00 </td <td>Supplier Notes:Supplier Product Code: Supplier Notes:Supplier Notes:Supplier Notes:<td< td=""></td<></td>	Supplier Notes:Supplier Product Code: Supplier Notes:Supplier Notes:Supplier Notes: <td< td=""></td<>

bid #M4-TTE10 - M4-TTE10 MAPS 4 Bus Stop

1 #M4-TTE APS 4 Bus		lahoma City and s Trusts		
M4- TTE10- -02-04	ALTERNATE 1: Construction Signage and Traffic Control - First Offer	\$2,000.00	10 / each	\$20,000.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-05	ALTERNATE 1: Clearing and Grubbing - First Offer	\$10.00	10 / each	\$100.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-06	ALTERNATE 1: REMOVE CONCRETE CURB & GUTTER - First Offer		12 / linear feet	\$120.00
Produc		Supplier Product Code:	1	I
Agency M4- TTE10- -02-07	ALTERNATE 1: REMOVE/RELOCATE EXISTING SIGNS - First Offer	Supplier Notes: \$500.00	9 / each	\$4,500.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-08	ALTERNATE 1: REMOVE TREES - First Offer	\$2,000.00	1 / each	\$2,000.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	1
M4- TTE10- -02-09	ALTERNATE 1: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$30.00	10 / square feet	\$300.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	1
M4- TTE10- -02-10	ALTERNATE 1: 4 Inch CONCRETE SIDEWALK - First Offer	\$58.00	184 / square yard	\$10,672.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-11	ALTERNATE 1: 6 Inch Concrete Sidewalk - First Offer	\$95.00	107 / square yard	\$10,165.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-12	ALTERNATE 1: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer	\$37.85	150 / linear feet	\$5,677.50
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-13	ALTERNATE 1: 6 Inch TO 18 Inch CURB - First Offer	\$20.00	156 / linear feet	\$3,120.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-14	ALTERNATE 1: SOLID SLAB SOD - First Offer	\$10.00	85 / square yard	\$850.00
Produc Agency		Supplier Product Code: Supplier Notes:		·
M4-	ALTERNATE 1: Temporary Silt Fence - First Offer		300 / linear	\$1,200.00

-3 4 Dus		S TTUSIS			
TTE10- -02-15			foot		
	rt Code: / Notes:	Supplier Product Code: Supplier Notes:	·		
M4- TTE10- -02-16	ALTERNATE 1: Rock Bag Inlet Protection - First Offer	\$10.00	115 / linear foot	\$1,150.00	
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	1	I	
				Lot Total: \$64,534.50	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
M4- TTE10- -03-01	ALTERNATE 2: SAW CUT - First Offer	\$3.00	200 / linear feet	\$600.00	
	rt Code: / Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-02	ALTERNATE 2: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$10.00	136 / square yard	\$1,360.00	
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-03	ALTERNATE 2: MOBILIZATION - First Offer	\$250.00	28 / each	\$7,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-04	- ALTERNATE 2: Construction Staking (Construction Survey) First Offer	\$150.00	28 / each	\$4,200.00	
	rt Code: / Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-05	ALTERNATE 2: Construction Signage and Traffic Control - First Offer	\$1,750.00	28 / each	\$49,000.00	
Produc Agency	rt Code: / Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-06	ALTERNATE 2: Clearing and Grubbing - First Offer	\$10.00	28 / each	\$280.00	
	rt Code: / Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-07	ALTERNATE 2: REMOVE CONCRETE CURB & GUTTER - First Offer	\$10.00	102 / linear foot	\$1,020.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-08	ALTERNATE 2: REMOVE CONCRETE DRIVEWAY - First Offer	\$10.00	77 / square yard	\$770.00	
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-09	ALTERNATE 2: REMOVE ASPHALT PAVEMENT - First Offer	\$10.00	132 / square yard	\$1,320.00	
Produc	t Code:	Supplier Product Code:			

Agency	Notes:	Supplier Notes:		
M4- TTE10- -03-10	ALTERNATE 2: REMOVE FENCE - First Offer	\$100.00	47 / linear feet	\$4,700.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-11	ALTERNATE 2: REMOVE/RELOCATE EXISTING SIGNS - First Offer	\$500.00	24 / each	\$12,000.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-12	ALTERNATE 2: REMOVE TREES - First Offer	\$1,500.00	2 / each	\$3,000.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-13	ALTERNATE 2: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$30.00	30 / square feet	\$900.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-14	ALTERNATE 2: 4 Inch CONCRETE SIDEWALK - First Offer	\$58.00	755 / square yard	\$43,790.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-15	ALTERNATE 2: 6 Inch Concrete Sidewalk - First Offer	\$95.00	246 / square yard	\$23,370.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-16	ALTERNATE 2: 6 Inch CONCRETE PAVEMENT (H.E.S.) - First Offer	\$85.00	55 / square yard	\$4,675.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-17	ALTERNATE 2: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer	\$145.00	30 / linear feet	\$4,350.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-18	ALTERNATE 2: BIKE LANE MARKINGS REMOVE & REPLACE - First Offer	\$8,500.00	1 / each	\$8,500.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-19	ALTERNATE 2: CURB AND GUTTER (2foot-6inch) - First Offer	\$30.00	205 / linear foot	\$6,150.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-20	ALTERNATE 2: 6 Inch TO 18 Inch CURB - First Offer	\$20.00	31 / linear feet	\$620.00
Produc Agency		Supplier Product Code: Supplier Notes:		

#M4-TTE PS 4 Bus	E10 - M4- s Stop		lahoma City and s Trusts		
M4- TTE10- -03-21		ALTERNATE 2: SOLID SLAB SOD - First Offer	\$6.00	221 / square yard	\$1,326.00
	ct Code: y Notes:		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-22		ALTERNATE 2: AGGREGATE BASE (TYPE A) - First Offer	\$100.00	16 / cubic yards	\$1,600.00
	ct Code: y Notes:		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-23		ALTERNATE 2: Temporary Silt Fence - First Offer	\$4.00	900 / linear foot	\$3,600.00
	ct Code: y Notes:		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-24		ALTERNATE 2: Rock Bag Inlet Protection - First Offer	\$10.00	75 / linear foot	\$750.00
	ct Code: y Notes:		Supplier Product Code: Supplier Notes:		
					Lot Total: \$184,881.00
CGC, I	LLC				\$945,884.00 (66/66 items)
Bid Co	ontact fications	Jimmie Wright jimmie@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Mar 12, 2024)	Address	i 101 W.5th Si Edmond, Of	t
Bid Co Qualif Bid Bo	ontact fications	jimmie@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872 OKC PRE-QUALIFIED CONTRACTORS	Address Supplier Notes:		t
Bid Co Qualif Bid Bo	ications	jimmie@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Mar 12, 2024)			t
Bid Co Qualif Bid Bo Agency Item	fications ond <b>y Notes:</b>	jimmie@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Mar 12, 2024)	Supplier Notes:	Edmond, Oł	t (73003
Bid Co Qualif Bid Bo Agency Item # M4- TTE10- -01-01 Produc	ications ond y Notes: Line Ite	jimmie@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Mar 12, 2024)	Supplier Notes: Unit Price \$22.00 Supplier Product Code:	Edmond, OH	t ( 73003 Total Price
Bid Co Qualif Bid Bo Agency Item # M4- TTE10- -01-01 Produc	ications ond y Notes: Line Ite	jimmie@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Mar 12, 2024)	Supplier Notes: Unit Price \$22.00	Edmond, OH	t ( 73003 Total Price
Bid Co Qualif Bid Bo Agency Item # M4- TTE10- -01-01 Produc Agency M4- TTE10- -01-02 Produc	ications ond y Notes: Line Ite	jimmie@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Mar 12, 2024) em BASE BID: SAW CUT - First Offer BASE BID: SAW CUT - First Offer	Supplier Notes: Unit Price \$22.00 Supplier Product Code: Supplier Notes:	Edmond, OH Qty/Unit 60 / linear feet 526 /	t ( 73003 Total Price \$1,320.00
Bid Co Qualif Bid Bo Agency Item # M4- TTE10- -01-01 Produc Agency M4- TTE10- -01-02 Produc	ications ond y Notes: Line Ite y Notes: y Notes: BAS	jimmie@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Mar 12, 2024) em BASE BID: SAW CUT - First Offer BASE BID: SAW CUT - First Offer	Supplier Notes: Unit Price \$22.00 Supplier Product Code: Supplier Notes: \$20.00 Supplier Product Code:	Edmond, OH Qty/Unit 60 / linear feet 526 /	t ( 73003 Total Price \$1,320.00
Bid Co Qualif Bid Bo Agency Item # M4- TTE10- -01-01 Produc Agency M4- TTE10- -01-02 Produc Agency M4- TTE10- -01-03 Produc Agency	ications ond y Notes: Line Ite y Notes: y Notes: BAS	jimmie@cgcbuilds.com Ph 405-285-8871 Fax 405-285-8872 OKC PRE-QUALIFIED CONTRACTORS (Status: Authorized on Mar 12, 2024) BASE BID: SAW CUT - First Offer BASE BID: SAW CUT - First Offer E BID: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	Supplier Notes: Unit Price \$22.00 Supplier Product Code: \$20.00 Supplier Product Code:	Edmond, Or Qty/Unit 60 / linear feet 526 / square yard	t <b>Total Price</b> \$1,320.00 \$10,520.00

-01-04				
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
M4-	BASE BID: Construction Signage and Traffic Control - First	\$400.00	102 / each	\$40,800.00
TTE10-	Offer			
-01-05				

bid #M4-TTE10 - M4-TTE10
MAPS 4 Bus Stop

## City of Oklahoma City and

PS 4 Bus Stop	14 Bus Stop			
Product Co Agency Not		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-06	BASE BID: Clearing and Grubbing - First Offer	\$108.00	102 / each	\$11,016.00
Product Co Agency No		Supplier Product Code: Supplier Notes:	·	
M4- BA TTE10- -01-07	ASE BID: REMOVE CONCRETE CURB & GUTTER - First Offer	\$31.00	213 / linear feet	\$6,603.00
Product Co Agency Not		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-08	BASE BID: REMOVE CONCRETE DRIVEWAY - First Offer	\$49.00	199 / square yard	\$9,751.00
Product Co Agency Not		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-09	BASE BID: REMOVE ASPHALT PAVEMENT - First Offer	\$53.00	23 / square yard	\$1,219.00
Product Co Agency Not		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-10	BASE BID: REMOVE LANDSCAPING - First Offer	\$228.00	36 / square yard	\$8,208.00
Product Co Agency No		Supplier Product Code: Supplier Notes:	·	
M4- B TTE10- -01-11	ASE BID: REMOVE/RELOCATE EXISTING SIGNS - First Offer	\$81.00	98 / each	\$7,938.00
Product Co Agency No		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-12	BASE BID: REMOVE TREES - First Offer	\$630.00	4 / each	\$2,520.00
Product Co Agency No		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-13	BASE BID: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$53.00	100 / square feet	\$5,300.00
Product Co Agency Not		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-14	BASE BID: 4 Inch CONCRETE SIDEWALK - First Offer	\$82.00	2738 / square yard	\$224,516.00
Product Co Agency No		Supplier Product Code: Supplier Notes:	1	·
M4- TTE10- -01-15	BASE BID: 6 Inch Concrete Sidewalk - First Offer	\$87.00	1088 / square yard	\$94,656.00
Product Co Agency Not		Supplier Product Code: Supplier Notes:		
	ASE BID: 6 Inch CONCRETE PAVEMENT (H.E.S.) - First Offer	\$112.00	100 / square yard	\$11,200.00
Product Co	de:	Supplier Product Code:	1	1

Agency	Notes:	Supplier Notes:			
M4- TTE10- -01-17	BASE BID: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer	\$28.00	1980 / linear feet	\$55,440.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:	1		
M4- TTE10- -01-18	BASE BID: HANDRAIL - First Offer	\$166.00	50 / linear feet	\$8,300.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:	1		
M4- TTE10- -01-19	BASE BID: CURB AND GUTTER (2 foot-6 inch) - First Offer	\$39.00	326 / linear feet	\$12,714.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -01-20	BASE BID: 6 Inch TO 18 Inch CURB - First Offer	\$56.00	573 / linear feet	\$32,088.00	
Product Code:       Supplier Product Code:         Agency Notes:       Supplier Notes:					
M4- TTE10- -01-21	BASE BID: SOLID SLAB SOD - First Offer	\$7.00	1099 / square yard	\$7,693.00	
	t Code: / Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -01-22	BASE BID: CONCRETE PAVERS - First Offer	\$175.00	66 / square feet	\$11,550.00	
	t Code: / Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -01-23	BASE BID: RETAINING WALL - First Offer	\$268.00	31 / square yard	\$8,308.00	
	t Code: / Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -01-24	BASE BID: AGGREGATE BASE (TYPE A) - First Offer	\$108.00	29 / cubic yards	\$3,132.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -01-25	BASE BID: Temporary Silt Fence - First Offer	\$2.25	3000 / linear foot	\$6,750.00	
	t Code: / Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -01-26	BASE BID: Rock Bag Inlet Protection - First Offer	\$18.00	250 / cubic yards	\$4,500.00	
	t Code: / Notes:	Supplier Product Code: Supplier Notes:			
				Lot Total: \$675,802.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
M4- TTE10-	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$62.00	9 / square yard	\$558.00	

≇M4-TTE ₽S 4 Bus	10 - M4-TTE10 City of Ok	lahoma City and s Trusts		
-02-01				
Product Agency		Supplier Product Code: Supplier Notes:	1	I
M4- TTE10- -02-02	ALTERNATE 1: MOBILIZATION - First Offer	\$600.00	10 / each	\$6,000.00
Product Agency		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -02-03	- ALTERNATE 1: Construction Staking (Construction Survey) First Offer	\$280.00	10 / each	\$2,800.00
Product Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-04	ALTERNATE 1: Construction Signage and Traffic Control - First Offer		10 / each	\$4,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -02-05	ALTERNATE 1: Clearing and Grubbing - First Offer	\$106.00	10 / each	\$1,060.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-06	ALTERNATE 1: REMOVE CONCRETE CURB & GUTTER - First Offer		12 / linear feet	\$540.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-07	ALTERNATE 1: REMOVE/RELOCATE EXISTING SIGNS - First Offer		9 / each	\$729.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-08	ALTERNATE 1: REMOVE TREES - First Offer	\$630.00	1 / each	\$630.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-09	ALTERNATE 1: TACTILE MARKER/ TRUNCATED DOMES - First Offer		10 / square feet	\$500.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-10	ALTERNATE 1: 4 Inch CONCRETE SIDEWALK - First Offer		184 / square yard	\$15,088.00
Product Agency		Supplier Product Code: Supplier Notes:	1	I
M4- TTE10- -02-11	ALTERNATE 1: 6 Inch Concrete Sidewalk - First Offer		107 / square yard	\$9,309.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-12	ALTERNATE 1: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer	\$58.00	150 / linear feet	\$8,700.00

M4-TTE S 4 Bus		lahoma City and s Trusts		
Produc	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-13	ALTERNATE 1: 6 Inch TO 18 Inch CURB - First Offer	\$56.00	156 / linear feet	\$8,736.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-14	ALTERNATE 1: SOLID SLAB SOD - First Offer	\$7.00	85 / square yard	\$595.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	1
M4- TTE10- -02-15	ALTERNATE 1: Temporary Silt Fence - First Offer	\$2.25	300 / linear foot	\$675.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		1
M4- TTE10- -02-16	ALTERNATE 1: Rock Bag Inlet Protection - First Offer	\$40.00	115 / linear foot	\$4,600.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	I
ltem				Lot Total: \$64,520.00
#	Line Item	Unit Price	Qty/Unit	Total Price
M4- TTE10- -03-01	ALTERNATE 2: SAW CUT - First Offer	\$22.00	200 / linear feet	\$4,400.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-02	ALTERNATE 2: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$53.00	136 / square yard	\$7,208.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -03-03	ALTERNATE 2: MOBILIZATION - First Offer		28 / each	\$16,800.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -03-04	ALTERNATE 2: Construction Staking (Construction Survey) - First Offer	\$285.00	28 / each	\$7,980.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -03-05	ALTERNATE 2: Construction Signage and Traffic Control - First	\$500.00	28 / each	\$14,000.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-06	ALTERNATE 2: Clearing and Grubbing - First Offer		28 / each	\$2,968.00
Produc	ct Code:	Supplier Product Code:	1	1
Agency M4-	y Notes: ALTERNATE 2: REMOVE CONCRETE CURB & GUTTER - First	Supplier Notes: \$40.00	102 / linear	\$4,080.00

PS 4 Bus	Stop it	s Trusts			
TTE10- -03-07	Offer		foot		
Produc Agency		Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-08	ALTERNATE 2: REMOVE CONCRETE DRIVEWAY - First Offer	\$95.00	77 / square yard	\$7,315.00	
Produc Agency		Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-09	ALTERNATE 2: REMOVE ASPHALT PAVEMENT - First Offer	\$50.00	132 / square yard	\$6,600.00	
Produc Agency	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-10	ALTERNATE 2: REMOVE FENCE - First Offer	\$20.00	47 / linear feet	\$940.00	
Produc Agency		Supplier Product Code: Supplier Notes:	1		
M4- TTE10- -03-11	ALTERNATE 2: REMOVE/RELOCATE EXISTING SIGNS - First Offer	\$81.00	24 / each	\$1,944.00	
Produc Agency		Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-12	ALTERNATE 2: REMOVE TREES - First Offer		2 / each	\$1,260.00	
Produc Agency		Supplier Product Code: Supplier Notes:	1		
M4- TTE10- -03-13	ALTERNATE 2: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$50.00	30 / square feet	\$1,500.00	
Produc Agency		Supplier Product Code: Supplier Notes:	1	I	
M4- TTE10- -03-14	ALTERNATE 2: 4 Inch CONCRETE SIDEWALK - First Offer	\$82.00	755 / square yard	\$61,910.00	
Produc Agency		Supplier Product Code: Supplier Notes:	1		
M4- TTE10- -03-15	ALTERNATE 2: 6 Inch Concrete Sidewalk - First Offer	\$87.00	246 / square yard	\$21,402.00	
Produc Agency		Supplier Product Code: Supplier Notes:	1	·	
M4- TTE10- -03-16	ALTERNATE 2: 6 Inch CONCRETE PAVEMENT (H.E.S.) - First Offer		55 / square yard	\$6,160.00	
Produc Agency		Supplier Product Code: Supplier Notes:			
M4- TTE10- -03-17	ALTERNATE 2: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer		30 / linear feet	\$6,690.00	
Produc Agency		Supplier Product Code: Supplier Notes:			
M4- TTE10-	ALTERNATE 2: BIKE LANE MARKINGS REMOVE & REPLACE - First Offer	\$14,122.00	1 / each	\$14,122.00	

Item	Line Item			Unit Price	Qty/Unit		Total Pr
Agency	Notes:		Supplier No	tes:			
	morga Ph 405	n@connellypaving.com 943-8388 RE-QUALIFIED CONTRACTORS		Address		50 City, OK 73147	
<b>Conne</b> Bid Co	Ily Paving Com	pany n Connelly		Address	PO Box 7545	\$969,991.50 (6 50	6/66 iter
						Lot Total:	\$205,562
Agency			Supplier Not			1	+
M4- TTE10- -03-24 <b>Produc</b>		JATE 2: Rock Bag Inlet Protection - First (	Supplier Pro	\$40.00	75 / linear foot		\$3,00
Product Agency	Notes:		Supplier Pro	tes:		1	+2.00
M4- TTE10- -03-23	AL	ERNATE 2: Temporary Silt Fence - First (	Dffer	\$2.25	900 / linear foot		\$2,02
Produc Agency	Notes:		Supplier Pro Supplier Not	tes:			
M4- TTE10- -03-22	ALTERNA	TE 2: AGGREGATE BASE (TYPE A) - First (	Dffer	\$109.00	16 / cubic yards		\$1,74
Produc Agency			Supplier Pro Supplier Not		I		
M4- TTE10- -03-21		ALTERNATE 2: SOLID SLAB SOD - First	Dffer	\$7.00	221 / square yard		\$1,54
Product Code: Agency Notes:		Supplier Pro Supplier Not					
M4- TTE10- -03-20	ALTE	RNATE 2: 6 Inch TO 18 Inch CURB - First (	Dffer	\$57.00	31 / linear feet		\$1,76
Agency			Supplier Not		1	1	
TTE10- -03-19		CORB AND GOTTER (21000-01101) - FIISU	Supplier Pro		foot		₽0,20 
Agency	Notes:	CURB AND GUTTER (2foot-6inch) - First (	Supplier Not		205 / linear		\$8,20
-03-18							
Produc			Supplier Pro				

#	Line Item	Unit Price	Qty/Unit	Total Price	
M4-	BASE BID: SAW CUT - First Offer	\$16.00	60 / linear	\$960.00	
TTE10-			feet		
-01-01					
Produc	t Code:	Supplier Product Code:			
Agency	/ Notes:	Supplier Notes:			
M4-	BASE BID: REMOVE EXISTING CONCRETE SIDEWALK - First	\$25.00	526 /	\$13,150.00	
TTE10-	Offer		square yard		
-01-02					
Product Code:		Supplier Product Code:			
Agency	/ Notes:	Supplier Notes:			
M4-	BASE BID: MOBILIZATION - First Offer	\$560.00	102 / each	\$57,120.00	
TTE10-					

		lahoma City and s Trusts		
PS 4 Bus -01-03	Stop			
Produc Agency		Supplier Product Code: Supplier Notes:	1	I
M4- TTE10- -01-04	BASE BID: Construction Staking (Construction Survey) - First Offer		102 / each	\$27,030.00
Produc Agency	t Code: / Notes:	Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-05	BASE BID: Construction Signage and Traffic Control - First Offer		102 / each	\$62,220.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-06	BASE BID: Clearing and Grubbing - First Offer	\$540.00	102 / each	\$55,080.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-07	BASE BID: REMOVE CONCRETE CURB & GUTTER - First Offer	\$30.00	213 / linear feet	\$6,390.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-08	BASE BID: REMOVE CONCRETE DRIVEWAY - First Offer	\$25.00	199 / square yard	\$4,975.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-09	BASE BID: REMOVE ASPHALT PAVEMENT - First Offer		23 / square yard	\$1,150.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-10	BASE BID: REMOVE LANDSCAPING - First Offer	\$40.00	36 / square yard	\$1,440.00
Produc Agency	t Code: <sup>7</sup> Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-11	BASE BID: REMOVE/RELOCATE EXISTING SIGNS - First Offer	\$175.00	98 / each	\$17,150.00
Produc Agency	t Code: v Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-12	BASE BID: REMOVE TREES - First Offer	\$1,500.00	4 / each	\$6,000.00
Produc Agency	t Code: <sup>/</sup> Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-13	BASE BID: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$47.00	100 / square feet	\$4,700.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-14	BASE BID: 4 Inch CONCRETE SIDEWALK - First Offer		2738 / square yard	\$221,778.00

#M4-TTE10 - M4-TTE10 2S 4 Bus Stop		lahoma City and s Trusts		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4- BASE BID: 6 Inch C TTE10- -01-15	Concrete Sidewalk - First Offer	\$87.00	1088 / square yard	\$94,656.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4- BASE BID: 6 Inch CONCRETE P TTE10- -01-16	AVEMENT (H.E.S.) - First Offer	\$115.00	100 / square yard	\$11,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-17	TI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer	\$5.00	1980 / linear feet	\$9,900.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	E BID: HANDRAIL - First Offer		50 / linear feet	\$13,750.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	ΓΕR (2 foot-6 inch) - First Offer		326 / linear feet	\$16,300.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	TO 18 Inch CURB - First Offer		573 / linear feet	\$35,526.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	SOLID SLAB SOD - First Offer		1099 / square yard	\$10,990.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	ONCRETE PAVERS - First Offer		66 / square feet	\$1,650.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	RETAINING WALL - First Offer		31 / square yard	\$8,060.0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		I
	ATE BASE (TYPE A) - First Offer		29 / cubic yards	\$3,625.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		,
	nporary Silt Fence - First Offer		3000 / linear foot	\$12,000.00
Product Code:		Supplier Product Code:		

Agency	v Notes:	Supplier Notes:			
M4- TTE10- -01-26	BASE BID: Rock Bag Inlet Protection - First Offer	\$11.00	250 / cubic yards	\$2,750.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
				Lot Total: \$699,850.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
M4- TTE10- -02-01	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$75.00	9 / square yard	\$675.00	
		Supplier Product Code: Supplier Notes:			
M4- TTE10- -02-02	ALTERNATE 1: MOBILIZATION - First Offer	\$725.00	10 / each	\$7,250.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -02-03	- ALTERNATE 1: Construction Staking (Construction Survey) First Offer	\$325.00	10 / each	\$3,250.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -02-04	ALTERNATE 1: Construction Signage and Traffic Control - First Offer	\$685.00	10 / each	\$6,850.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -02-05	ALTERNATE 1: Clearing and Grubbing - First Offer		10 / each	\$6,000.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -02-06	ALTERNATE 1: REMOVE CONCRETE CURB & GUTTER - First Offer	\$75.00	12 / linear feet	\$900.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -02-07	ALTERNATE 1: REMOVE/RELOCATE EXISTING SIGNS - First Offer	\$220.00	9 / each	\$1,980.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10- -02-08	ALTERNATE 1: REMOVE TREES - First Offer	\$1,500.00	1 / each	\$1,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	1		
M4- TTE10- -02-09	ALTERNATE 1: TACTILE MARKER/ TRUNCATED DOMES - First Offer		10 / square feet	\$750.00	
	t Code: v Notes:	Supplier Product Code: Supplier Notes:			
M4- TTE10-	ALTERNATE 1: 4 Inch CONCRETE SIDEWALK - First Offer	\$81.00	184 / square yard	\$14,904.00	

		ahoma City and		
S 4 Bus -02-10	Stop	s Trusts	1	I
	t Code:	Supplier Product Code:		
	Notes:	Supplier Notes:		
M4- TTE10- -02-11	ALTERNATE 1: 6 Inch Concrete Sidewalk - First Offer	\$87.00	107 / square yard	\$9,309.00
Produc Agency	t Code: / Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-12	ALTERNATE 1: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer	\$9.25	150 / linear feet	\$1,387.50
	t Code: / Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-13	ALTERNATE 1: 6 Inch TO 18 Inch CURB - First Offer	\$62.00	156 / linear feet	\$9,672.00
	t Code: ⁄ Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-14	ALTERNATE 1: SOLID SLAB SOD - First Offer	\$25.00	85 / square yard	\$2,125.00
	t Code: ' Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-15	ALTERNATE 1: Temporary Silt Fence - First Offer	\$5.00	300 / linear foot	\$1,500.00
	t Code: / Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-16	ALTERNATE 1: Rock Bag Inlet Protection - First Offer	\$11.00	115 / linear foot	\$1,265.00
Produc Agency	t Code: / Notes:	Supplier Product Code: Supplier Notes:		
		-		Lot Total: \$69,317.50
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
M4- TTE10- -03-01	ALTERNATE 2: SAW CUT - First Offer	\$12.00	200 / linear feet	\$2,400.00
	t Code: / Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-02	ALTERNATE 2: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$25.00	136 / square yard	\$3,400.00
	t Code: / Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-03	ALTERNATE 2: MOBILIZATION - First Offer	\$715.00	28 / each	\$20,020.00
Produc Agency	t Code: <sup>7</sup> Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-04	ALTERNATE 2: Construction Staking (Construction Survey) - First Offer	\$225.00	28 / each	\$6,300.00
Produc	t Code: ' Notes:	Supplier Product Code: Supplier Notes:		1

\$680.00	28 / each	\$19,040.00
Supplier Product Code: Supplier Notes:		
	28 / each	\$16,100.00
Supplier Product Code:		
\$25.00	102 / linear foot	\$2,550.00
Supplier Product Code:	1	1
	77 / square yard	\$1,925.00
Supplier Product Code:	1	I
	132 / square yard	\$3,300.00
Supplier Product Code:		
	47 / linear feet	\$940.00
Supplier Product Code:		
\$175.00	24 / each	\$4,200.00
Supplier Product Code:		
	2 / each	\$3,000.00
Supplier Product Code:	1	I
\$55.00	30 / square feet	\$1,650.00
Supplier Product Code: Supplier Notes:	1	1
	755 / square yard	\$61,155.00
Supplier Product Code: Supplier Notes:	·	·
	246 / square yard	\$21,402.00
Supplier Product Code: Supplier Notes:		I
	Image: Supplier Product Code: Supplier Notes:Supplier Notes: </td <td>s Trusts Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Su</br></br></br></br></br></br></br></br></br></br></br></td>	s Trusts Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: 

d #M4-TTE <sup>:</sup> APS 4 Bus	10 - M4-TTE10 City of Ok Stop its	lahoma City and s Trusts		
TTE10- -03-16	' Offer		yard	
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-17	ALTERNATE 2: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer		30 / linear feet	\$600.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-18	ALTERNATE 2: BIKE LANE MARKINGS REMOVE & REPLACE - First Offer	\$3,250.00	1 / each	\$3,250.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-19	ALTERNATE 2: CURB AND GUTTER (2foot-6inch) - First Offer	\$55.00	205 / linear foot	\$11,275.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-20	ALTERNATE 2: 6 Inch TO 18 Inch CURB - First Offer	\$65.00	31 / linear feet	\$2,015.00
Product Agency		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -03-21	ALTERNATE 2: SOLID SLAB SOD - First Offer	\$12.00	221 / square yard	\$2,652.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-22	ALTERNATE 2: AGGREGATE BASE (TYPE A) - First Offer	\$125.00	16 / cubic yards	\$2,000.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-23	ALTERNATE 2: Temporary Silt Fence - First Offer	\$5.00	900 / linear foot	\$4,500.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-24	ALTERNATE 2: Rock Bag Inlet Protection - First Offer	\$11.00	75 / linear foot	\$825.00
Product Agency		Supplier Product Code: Supplier Notes:		
-		· · ·		Lot Total: \$200,824.00

Ru	dy Constr	uction Co.			\$1,128,695.00	(66/66 items)
Bid	Contact	Doug Walker	Address	3101 NE 63r	d Street	
		kratliff@rudycc.com		Oklahoma (	City, OK 73121	
		Ph 405-478-9900				
		Fax 405-478-9901				
Qu	alifications	OKC PRE-QUALIFIED CONTRACTORS				
Bid	Bond	(Status: Authorized on Mar 11, 2024)				
Age	ncy Notes:		Supplier Notes:			
Iter	m Line It	em	Unit Price	Qty/Unit		<b>Total Price</b>

	•			
#				
M4- TTE10- -01-01	BASE BID: SAW CUT - First Offer	\$5.00	60 / linear feet	\$300.00
Produc Agency		Supplier Product Code: Supplier Notes:	<u> </u>	<u> </u>
M4- TTE10- -01-02	BASE BID: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$15.00	526 / square yard	\$7,890.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-03	BASE BID: MOBILIZATION - First Offer	\$750.00	102 / each	\$76,500.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-04	BASE BID: Construction Staking (Construction Survey) - First Offer	\$150.00	102 / each	\$15,300.00
Produc Agency	t Code: v Notes:	Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-05	BASE BID: Construction Signage and Traffic Control - First Offer	\$800.00	102 / each	\$81,600.00
Produc Agency		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-06	BASE BID: Clearing and Grubbing - First Offer	\$50.00	102 / each	\$5,100.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-07	BASE BID: REMOVE CONCRETE CURB & GUTTER - First Offer	\$15.00	213 / linear feet	\$3,195.00
Produc Agency	t Code: / Notes:	Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-08	BASE BID: REMOVE CONCRETE DRIVEWAY - First Offer	\$15.00	199 / square yard	\$2,985.00
Produc Agency	t Code: <sup>7</sup> Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-09	BASE BID: REMOVE ASPHALT PAVEMENT - First Offer	\$15.00	23 / square yard	\$345.00
Produc Agency	t Code: <sup>7</sup> Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-10	BASE BID: REMOVE LANDSCAPING - First Offer	\$15.00	36 / square yard	\$540.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-11	BASE BID: REMOVE/RELOCATE EXISTING SIGNS - First Offer	\$180.00	98 / each	\$17,640.00
Produc	t Code: / Notes:	Supplier Product Code: Supplier Notes:	1	I

N44	BASE BID: REMOVE TREES - First Offer	¢1 200 00	4/each	¢4.900
M4- TTE10- -01-12	BASE BID. REMOVE TREES - FIRST OTTER	\$1,200.00	47 each	\$4,800
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-13	BASE BID: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$50.00	100 / square feet	\$5,000.
Produc Agency		Supplier Product Code: Supplier Notes:	<u> </u>	
M4- TTE10- -01-14	BASE BID: 4 Inch CONCRETE SIDEWALK - First Offer	\$110.00	2738 / square yard	\$301,180.
Produc		Supplier Product Code: Supplier Notes:	<u>                                     </u>	
M4- TTE10- -01-15	BASE BID: 6 Inch Concrete Sidewalk - First Offer	\$155.00	1088 / square yard	\$168,640.
Produc Agency	t Code: Notes:	Supplier Product Code: Supplier Notes:	<u> </u>	
M4- TTE10- -01-16	BASE BID: 6 Inch CONCRETE PAVEMENT (H.E.S.) - First Offer	\$160.00	100 / square yard	\$16,000.
Produc Agency		Supplier Product Code: Supplier Notes:	11	
M4- TTE10- -01-17	BASE BID: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer	\$7.00	1980 / linear feet	\$13,860.
Produc		Supplier Product Code: Supplier Notes:	<u>                                     </u>	
M4- TTE10- -01-18	BASE BID: HANDRAIL - First Offer	\$120.00	50 / linear feet	\$6,000.
Produc Agency		Supplier Product Code: Supplier Notes:	<u>                                     </u>	
M4- TTE10- -01-19	BASE BID: CURB AND GUTTER (2 foot-6 inch) - First Offer	\$70.00	326 / linear feet	\$22,820.
Produc Agency		Supplier Product Code: Supplier Notes:	<u> </u>	
M4- TTE10- -01-20	BASE BID: 6 Inch TO 18 Inch CURB - First Offer	\$50.00	573 / linear feet	\$28,650.
Produc Agency	t Code: Notes:	Supplier Product Code: Supplier Notes:	11	
M4- TTE10- -01-21	BASE BID: SOLID SLAB SOD - First Offer	\$8.00	1099 / square yard	\$8,792.
Produc		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-22	BASE BID: CONCRETE PAVERS - First Offer	\$55.00	66 / square feet	\$3,630.
Produc	t Code: Notes:	Supplier Product Code: Supplier Notes:	<u>ı                                    </u>	
<del></del> y	BASE BID: RETAINING WALL - First Offer	\$600.00	31 / square	\$18,600.

S 4 Bus	Stop its	s Trusts		
TTE10- -01-23			yard	
Produc Agency	t Code: v Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-24	BASE BID: AGGREGATE BASE (TYPE A) - First Offer	\$150.00	29 / cubic yards	\$4,350.00
	t Code: v Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-25	BASE BID: Temporary Silt Fence - First Offer	\$5.00	3000 / linear foot	\$15,000.00
Produc Agency	t Code: v Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-26	BASE BID: Rock Bag Inlet Protection - First Offer	\$15.00	250 / cubic yards	\$3,750.00
	t Code: v Notes:	Supplier Product Code: Supplier Notes:	1	I
				Lot Total: \$832,467.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
M4- TTE10- -02-01	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$15.00	9 / square yard	\$135.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-02	ALTERNATE 1: MOBILIZATION - First Offer	\$750.00	10 / each	\$7,500.00
	t Code: v Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-03	- ALTERNATE 1: Construction Staking (Construction Survey) First Offer	\$150.00	10 / each	\$1,500.00
Produc Agency		Supplier Product Code: Supplier Notes:		I
M4- TTE10- -02-04	ALTERNATE 1: Construction Signage and Traffic Control - First Offer		10 / each	\$8,000.00
	t Code: v Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-05	ALTERNATE 1: Clearing and Grubbing - First Offer	\$50.00	10 / each	\$500.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-06	ALTERNATE 1: REMOVE CONCRETE CURB & GUTTER - First Offer		12 / linear feet	\$180.00
	t Code: v Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-07	ALTERNATE 1: REMOVE/RELOCATE EXISTING SIGNS - First Offer	\$180.00	9 / each	\$1,620.00
	t Code:	Supplier Product Code:		

S 4 Bus	Stop	s Trusts		
Agency	v Notes:	Supplier Notes:		
M4- TTE10- -02-08	ALTERNATE 1: REMOVE TREES - First Offer	\$1,200.00	1 / each	\$1,200.00
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	<u> </u>	
			10/	¢500.00
M4- TTE10- -02-09	ALTERNATE 1: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$50.00	10 / square feet	\$500.00
	rt Code: / Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-10	ALTERNATE 1: 4 Inch CONCRETE SIDEWALK - First Offer	\$110.00	184 / square yard	\$20,240.00
Produc		Supplier Product Code: Supplier Notes:	<u> </u>	
M4- TTE10- -02-11	ALTERNATE 1: 6 Inch Concrete Sidewalk - First Offer	\$155.00	107 / square yard	\$16,585.00
Produc Agency	rt Code: / Notes:	Supplier Product Code: Supplier Notes:	<u> </u>	
M4- TTE10- -02-12	ALTERNATE 1: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer	\$7.00	150 / linear feet	\$1,050.00
Produc Agency	rt Code: v Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-13	ALTERNATE 1: 6 Inch TO 18 Inch CURB - First Offer	\$50.00	156 / linear feet	\$7,800.00
Produc Agency	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	11	
M4- TTE10- -02-14	ALTERNATE 1: SOLID SLAB SOD - First Offer	\$8.00	85 / square yard	\$680.00
Produc Agency	rt Code: / Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-15	ALTERNATE 1: Temporary Silt Fence - First Offer	\$5.00	300 / linear foot	\$1,500.00
Produc Agency	rt Code: v Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-16	ALTERNATE 1: Rock Bag Inlet Protection - First Offer	\$15.00	115 / linear foot	\$1,725.00
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	11	
		· · ·		Lot Total: \$70,715.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
M4- TTE10- -03-01	ALTERNATE 2: SAW CUT - First Offer	\$5.00	200 / linear feet	\$1,000.00
Produc		Supplier Product Code:		
Agency M4-	ALTERNATE 2: REMOVE EXISTING CONCRETE SIDEWALK -	Supplier Notes: \$15.00	136 /	\$2,040.00
TTE10-	First Offer		square yard	

	10 - M4-TTE10 City of Ok	lahoma City and		
S 4 Bus -03-02	Stop It	s Trusts 	1	
Produc	t Code:	Supplier Product Code:		
Agency		Supplier Notes:		
M4- TTE10- -03-03	ALTERNATE 2: MOBILIZATION - First Offer	\$750.00	28 / each	\$21,000.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	-
M4- TTE10- -03-04	- ALTERNATE 2: Construction Staking (Construction Survey) First Offer	\$150.00	28 / each	\$4,200.00
Produc Agency		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -03-05	ALTERNATE 2: Construction Signage and Traffic Control - First Offer	\$800.00	28 / each	\$22,400.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -03-06	ALTERNATE 2: Clearing and Grubbing - First Offer	\$50.00	28 / each	\$1,400.00
Produc Agency		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -03-07	ALTERNATE 2: REMOVE CONCRETE CURB & GUTTER - First Offer	\$15.00	102 / linear foot	\$1,530.00
Produc Agency		Supplier Product Code: Supplier Notes:	1	-
M4- TTE10- -03-08	ALTERNATE 2: REMOVE CONCRETE DRIVEWAY - First Offer	\$15.00	77 / square yard	\$1,155.00
Produc	t Code:	Supplier Product Code:	1	
Agency		Supplier Notes:		
M4- TTE10- -03-09	ALTERNATE 2: REMOVE ASPHALT PAVEMENT - First Offer	\$15.00	132 / square yard	\$1,980.00
Produc Agency		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -03-10	ALTERNATE 2: REMOVE FENCE - First Offer	\$15.00	47 / linear feet	\$705.00
Produc		Supplier Product Code:	1	
Agency M4-	Notes: ALTERNATE 2: REMOVE/RELOCATE EXISTING SIGNS - First	Supplier Notes: \$180.00	24 / each	\$4,320.00
TTE10- -03-11	ALTERINATE 2. REMOVE/RELOCATE EXISTING SIGNS - FISU Offer	\$160.00		
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-12	ALTERNATE 2: REMOVE TREES - First Offer	\$1,200.00	2 / each	\$2,400.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-13	ALTERNATE 2: TACTILE MARKER/ TRUNCATED DOMES - First Offer		30 / square feet	\$1,500.00

	5 110515		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
M4- ALTERNATE 2: 4 Inch CONCRETE SIDEWALK - First Offer TTE10- -03-14	\$110.00	755 / square yard	\$83,050.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	·	
M4- ALTERNATE 2: 6 Inch Concrete Sidewalk - First Offer TTE10- -03-15	\$155.00	246 / square yard	\$38,130.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
M4- ALTERNATE 2: 6 Inch CONCRETE PAVEMENT (H.E.S.) - First TTE10- -03-16		55 / square yard	\$8,800.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
M4-ALTERNATE 2: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEXTTE10-LS65) (4-INCH) - First Offer-03-17-		30 / linear feet	\$210.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-18 ALTERNATE 2: BIKE LANE MARKINGS REMOVE & REPLACE - First Offer	\$4,000.00	1 / each	\$4,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
M4- ALTERNATE 2: CURB AND GUTTER (2foot-6inch) - First Offer TTE10- -03-19	\$70.00	205 / linear foot	\$14,350.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
M4- ALTERNATE 2: 6 Inch TO 18 Inch CURB - First Offer TTE10- -03-20	\$50.00	31 / linear feet	\$1,550.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	·	
M4- ALTERNATE 2: SOLID SLAB SOD - First Offer TTE10- -03-21	\$8.00	221 / square yard	\$1,768.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-22	\$150.00	16 / cubic yards	\$2,400.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	1	
M4- ALTERNATE 2: Temporary Silt Fence - First Offer TTE10- -03-23	\$5.00	900 / linear foot	\$4,500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		·
M4- TTE10- -03-24	\$15.00	75 / linear foot	\$1,125.00
Product Code:	Supplier Product Code:	1	1

Agency Notes:

## City of Oklahoma City and its Trusts Supplier Notes:

Lot Total: \$225,513.00

C-P In	tegrated Services		:	\$1,225,121.25 (66/66 items)
Bid Co	dfisher@cpiokc.com Ph 405-732-0532	Address		rd Street, Ste 205 City, OK 73116
Qualifi Bid Bo	cations OKC PRE-QUALIFIED CONTRACTORS nd (Status: Authorized on Mar 12, 2024)			
Agency	Notes:	Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
M4- TTE10- -01-01	BASE BID: SAW CUT - First Offer	\$10.00	60 / linear feet	\$600.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-02	BASE BID: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$9.00	526 / square yard	\$4,734.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-03	BASE BID: MOBILIZATION - First Offer	\$1,650.00	102 / each	\$168,300.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-04	BASE BID: Construction Staking (Construction Survey) - First Offer	\$675.00	102 / each	\$68,850.00
Produc Agency		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-05	BASE BID: Construction Signage and Traffic Control - First Offer	\$475.00	102 / each	\$48,450.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-06	BASE BID: Clearing and Grubbing - First Offer	\$1,000.50	102 / each	\$102,051.00
Produc Agency	t Code: / Notes:	Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -01-07	BASE BID: REMOVE CONCRETE CURB & GUTTER - First Offer	\$12.75	213 / linear feet	\$2,715.75
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-08	BASE BID: REMOVE CONCRETE DRIVEWAY - First Offer	\$15.75	199 / square yard	\$3,134.25
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-09	BASE BID: REMOVE ASPHALT PAVEMENT - First Offer	\$29.00	23 / square yard	\$667.00

-5 4 Dus		s Trusis		
	rt Code: / Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-10	BASE BID: REMOVE LANDSCAPING - First Offer	\$28.25	36 / square yard	\$1,017.00
1	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-11	BASE BID: REMOVE/RELOCATE EXISTING SIGNS - First Offer	\$375.00	98 / each	\$36,750.00
	rt Code: / Notes:	Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-12	BASE BID: REMOVE TREES - First Offer	\$925.00	4 / each	\$3,700.00
1	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	· · ·	
M4- TTE10- -01-13	BASE BID: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$49.50	100 / square feet	\$4,950.00
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	<u> </u>	
M4- TTE10- -01-14	BASE BID: 4 Inch CONCRETE SIDEWALK - First Offer	\$62.50	2738 / square yard	\$171,125.00
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-15	BASE BID: 6 Inch Concrete Sidewalk - First Offer	\$82.50	1088 / square yard	\$89,760.00
	rt Code: / Notes:	Supplier Product Code: Supplier Notes:	<u> </u>	
M4- TTE10- -01-16	BASE BID: 6 Inch CONCRETE PAVEMENT (H.E.S.) - First Offer	\$110.00	100 / square yard	\$11,000.00
1	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-17	BASE BID: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer		1980 / linear feet	\$47,520.00
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-18	BASE BID: HANDRAIL - First Offer	\$231.00	50 / linear feet	\$11,550.00
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:	<u> </u>	
M4- TTE10- -01-19	BASE BID: CURB AND GUTTER (2 foot-6 inch) - First Offer	\$37.00	326 / linear feet	\$12,062.00
	rt Code: v Notes:	Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-20	BASE BID: 6 Inch TO 18 Inch CURB - First Offer	\$40.50	573 / linear feet	\$23,206.50
	t Code:	Supplier Product Code:		

bid #M4-TTE10 - M4-TTE10
MAPS 4 Bus Stop

Agency	Notes:	Supplier Notes:		
M4- TTE10- -01-21	BASE BID: SOLID SLAB SOD - First Offer	\$4.25	1099 / square yard	\$4,670.75
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-22	BASE BID: CONCRETE PAVERS - First Offer	\$135.00	66 / square feet	\$8,910.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-23	BASE BID: RETAINING WALL - First Offer	\$600.00	31 / square yard	\$18,600.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-24	BASE BID: AGGREGATE BASE (TYPE A) - First Offer	\$107.00	29 / cubic yards	\$3,103.00
Produc Agency		Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -01-25	BASE BID: Temporary Silt Fence - First Offer	\$4.00	3000 / linear foot	\$12,000.00
Produc Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -01-26	BASE BID: Rock Bag Inlet Protection - First Offer	\$111.75	250 / cubic yards	\$27,937.50
Produc Agency		Supplier Product Code: Supplier Notes:	·	
				Lot Total: \$887,363.75
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
	Line Item ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	Unit Price \$8.75	<b>Qty/Unit</b> 9 / square yard	Total Price \$78.75
# M4- TTE10-	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer		9 / square	
# M4- TTE10- -02-01 <b>Produc</b>	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer	\$8.75	9 / square	
# M4- TTE10- -02-01 Produc Agency M4- TTE10-	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer t Code: Notes: ALTERNATE 1: MOBILIZATION - First Offer t Code:	\$8.75 Supplier Product Code: Supplier Notes:	9 / square yard	\$78.75
# M4- TTE10- -02-01 Produc Agency M4- TTE10- -02-02 Produc	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer t Code: Notes: ALTERNATE 1: MOBILIZATION - First Offer t Code:	\$8.75 Supplier Product Code: Supplier Notes: \$1,650.00 Supplier Product Code:	9 / square yard	\$78.75
# M4- TTE10- -02-01 <b>Produc</b> Agency M4- TTE10- -02-02 <b>Produc</b> Agency M4- TTE10-	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer t Code: ALTERNATE 1: MOBILIZATION - First Offer t Code: ALTERNATE 1: Construction Staking (Construction Survey) - First Offer t Code:	\$8.75 Supplier Product Code: Supplier Notes: \$1,650.00 Supplier Product Code: Supplier Notes:	9 / square yard	\$78.75
# M4- TTE10- -02-01 <b>Produc</b> Agency M4- TTE10- -02-02 <b>Produc</b> Agency M4- TTE10- -02-03 <b>Produc</b>	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer t Code: ALTERNATE 1: MOBILIZATION - First Offer t Code: ALTERNATE 1: Construction Staking (Construction Survey) - First Offer t Code:	\$8.75 Supplier Product Code: Supplier Notes: \$1,650.00 Supplier Product Code: \$675.00 Supplier Product Code: \$675.00	9 / square yard	\$78.75
# M4- TTE10- -02-01 Produc Agency M4- TTE10- -02-02 M4- TTE10- -02-03 Produc Agency M4- TTE10- M4- TTE10-	ALTERNATE 1: REMOVE EXISTING CONCRETE SIDEWALK - First Offer t Code: ALTERNATE 1: MOBILIZATION - First Offer t Code: ALTERNATE 1: Construction Staking (Construction Survey) - First Offer t Code: ALTERNATE 1: Construction Signage and Traffic Control - First Offer t Code:	\$8.75 Supplier Product Code: Supplier Notes: \$1,650.00 Supplier Product Code: \$675.00 Supplier Product Code: \$675.00	9 / square yard 10 / each 10 / each	\$78.75

#M4-TTE1 PS 4 Bus \$			lahoma City and s Trusts		
-02-05					
Product Agency			Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-06	ALTERNATE 1: REMOVE CONCRETE CURB & GUTTER - C	First )ffer	\$12.75	12 / linear feet	\$153.00
Product Agency			Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-07	ALTERNATE 1: REMOVE/RELOCATE EXISTING SIGNS - C	First Offer	\$375.00	9 / each	\$3,375.00
Product Agency			Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-08	ALTERNATE 1: REMOVE TREES - First C	)ffer	\$925.00	1 / each	\$925.00
Product Agency			Supplier Product Code: Supplier Notes:	1	
M4- TTE10- -02-09	ALTERNATE 1: TACTILE MARKER/ TRUNCATED DOMES -	First Offer	\$49.50	10 / square feet	\$495.00
Product Agency			Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-10	ALTERNATE 1: 4 Inch CONCRETE SIDEWALK - First C	)ffer	\$72.50	184 / square yard	\$13,340.00
Product Agency			Supplier Product Code: Supplier Notes:	·	
M4- TTE10- -02-11	ALTERNATE 1: 6 Inch Concrete Sidewalk - First C	)ffer	\$88.50	107 / square yard	\$9,469.50
Product Agency			Supplier Product Code: Supplier Notes:	1	1
M4- TTE10- -02-12	ALTERNATE 1: TRAFFIC STRIPE (MULTI-POLYMER - EPOF LS65) (4-INCH) - First C		\$50.00	150 / linear feet	\$7,500.00
Product Agency			Supplier Product Code: Supplier Notes:	1	I
M4- TTE10- -02-13	ALTERNATE 1: 6 Inch TO 18 Inch CURB - First C	Offer	\$40.50	156 / linear feet	\$6,318.00
Product Agency			Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-14	ALTERNATE 1: SOLID SLAB SOD - First C	)ffer	\$4.25	85 / square yard	\$361.25
Product Agency			Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-15	ALTERNATE 1: Temporary Silt Fence - First C	)ffer	\$4.00	300 / linear foot	\$1,200.00
Product Agency			Supplier Product Code: Supplier Notes:		
M4- TTE10- -02-16	ALTERNATE 1: Rock Bag Inlet Protection - First C	Offer	\$111.75	115 / linear foot	\$12,851.25

## Product Code:

### City of Oklahoma City and its Trusts Supplier Product Code: Supplier Notes:

Agency Notes:

Lot Total: \$94,071.75 Item Line Item **Unit Price** Qty/Unit **Total Price** # M4-ALTERNATE 2: SAW CUT - First Offer \$10.00 200 / linear \$2,000.00 TTE10feet -03-01 Product Code: **Supplier Product Code: Agency Notes: Supplier Notes:** ALTERNATE 2: REMOVE EXISTING CONCRETE SIDEWALK M4-\$9.00 136/ \$1,224.00 TTE10-First Offer square yard -03-02 **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: M4-ALTERNATE 2: MOBILIZATION - First Offer \$1,650.00 28 / each \$46,200.00 TTE10--03-03 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** M4-ALTERNATE 2: Construction Staking (Construction Survey) \$675.00 28 / each \$18,900.00 TTE10-First Offer -03-04 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** M4-ALTERNATE 2: Construction Signage and Traffic Control - First \$475.00 28 / each \$13,300.00 TTE10-Offer -03-05 Product Code: Supplier Product Code: **Agency Notes: Supplier Notes:** M4-28 / each ALTERNATE 2: Clearing and Grubbing - First Offer \$1,000.50 \$28,014.00 TTE10--03-06 Product Code: **Supplier Product Code: Agency Notes: Supplier Notes:** \$12.75 102 / linear M4-ALTERNATE 2: REMOVE CONCRETE CURB & GUTTER - First \$1,300.50 TTE10-Offer foot -03-07 **Product Code: Supplier Product Code:** Supplier Notes: **Agency Notes:** M4-\$15.75 77 / square ALTERNATE 2: REMOVE CONCRETE DRIVEWAY - First Offer \$1,212.75 TTE10yard -03-08 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** \$29.00 132/ M4-ALTERNATE 2: REMOVE ASPHALT PAVEMENT - First Offer \$3,828.00 TTE10square yard -03-09 **Product Code: Supplier Product Code:** Agency Notes: **Supplier Notes:** \$29.00 M4-47 / linear ALTERNATE 2: REMOVE FENCE - First Offer \$1,363.00 TTE10feet -03-10 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** \$375.00 24 / each \$9,000.00 M4-ALTERNATE 2: REMOVE/RELOCATE EXISTING SIGNS - First

## City of Oklahoma City and

PS 4 Bus	Stop	s Trusts		
TTE10- -03-11	Offer			
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-12	ALTERNATE 2: REMOVE TREES - First Offer	\$925.00	2 / each	\$1,850.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-13	ALTERNATE 2: TACTILE MARKER/ TRUNCATED DOMES - First Offer	\$49.50	30 / square feet	\$1,485.00
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-14	ALTERNATE 2: 4 Inch CONCRETE SIDEWALK - First Offer	\$62.50	755 / square yard	\$47,187.50
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-15	ALTERNATE 2: 6 Inch Concrete Sidewalk - First Offer	\$82.50	246 / square yard	\$20,295.00
Product Agency		Supplier Product Code: Supplier Notes:		I
M4- TTE10- -03-16	ALTERNATE 2: 6 Inch CONCRETE PAVEMENT (H.E.S.) - First Offer		55 / square yard	\$5,995.00
Product Agency		Supplier Product Code: Supplier Notes:	1	1
M4- TTE10- -03-17	ALTERNATE 2: TRAFFIC STRIPE (MULTI-POLYMER - EPOPLEX LS65) (4-INCH) - First Offer	\$192.50	30 / linear feet	\$5,775.00
Product Agency		Supplier Product Code: Supplier Notes:	1	1
M4- TTE10- -03-18	ALTERNATE 2: BIKE LANE MARKINGS REMOVE & REPLACE - First Offer	\$11,275.00	1 / each	\$11,275.00
Product Agency		Supplier Product Code: Supplier Notes:	1	I
M4- TTE10- -03-19	ALTERNATE 2: CURB AND GUTTER (2foot-6inch) - First Offer	\$37.00	205 / linear foot	\$7,585.00
Product Agency		Supplier Product Code: Supplier Notes:		I
M4- TTE10- -03-20	ALTERNATE 2: 6 Inch TO 18 Inch CURB - First Offer	\$40.50	31 / linear feet	\$1,255.50
Product Agency		Supplier Product Code: Supplier Notes:		·
M4- TTE10- -03-21	ALTERNATE 2: SOLID SLAB SOD - First Offer	\$4.25	221 / square yard	\$939.25
Product Agency		Supplier Product Code: Supplier Notes:		
M4- TTE10-	ALTERNATE 2: AGGREGATE BASE (TYPE A) - First Offer	\$107.50	16 / cubic yards	\$1,720.00

#M4-TTE10 - N PS 4 Bus Stop		lahoma City and s Trusts		
-03-22				
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-23	ALTERNATE 2: Temporary Silt Fence - First Offer	\$4.00	900 / linear foot	\$3,600.(
		Supplier Product Code: Supplier Notes:		
M4- TTE10- -03-24	ALTERNATE 2: Rock Bag Inlet Protection - First Offer	\$111.75	75 / linear foot	\$8,381.2
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
		•		Lot Total: \$243,685.7

Bid Committee Bid Tab

## Bid OCWUT SC-1109 Ended At Mar 13, 2024 10:00:00 AM CDT CONSTRUCTION/OCWUT - Sanitary Sewer Replacement

Company:	Urban Contractors	Matthews Trenching Co., Inc.	Krapff Reynolds Construction Company
BASE BID	\$443,131.00	\$589,250.00	\$813,404.75
TOTAL BID:	\$443,131.00	\$589,250.00	\$813,404.75

Tresha Williams City Clerk Chad Harrison Purchasing Agent \_\_\_\_\_Tim Alvarez\_\_\_\_\_ Auditor

Potential Bid Defects Noted:

- **#1** Anti-collusion affidavit not properly notarized
- **#2** Bid Bond missing
- **#3** Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- **#5** Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

## Bid #OCWUT SC-1109 - Sanitary Sewer Replacement

Creation Date Jan 29, 2024

Start Date Feb 14, 2024 7:40:21 AM CST

End Date Mar 13, 2024 10:00:00 AM CDT

Awarded Date Not Yet Awarded

OCWUT SC-110901-01 BASE BID: AUDIO-VIDEO RECORDING PRE-CONSTRUCTION AND POST CONSTRUCTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Krapff Reynolds Construction Company	First Offer - \$2,500.00	1 / lump sum	\$2,500.00	Y	Y		
Product Code: SC-1109		Supplier Product Code:					
Agency Notes:	ency Notes:			Supplier Notes: Bid bond attached to this bid item			
Matthews Trenching Co., Inc.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00	Y	Y		
Product Code: SC-1109		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Urban Contractors	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y		
Product Code: SC-1109		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

OCWUT SC-110901-02 BASE BID: TRENCHLESS CONSTRUCTION (8 IN)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Matthews Trenching Co., Inc.	First Offer - \$150.00	1683 / linear foot	\$252,450.00		Y		
Product Code: SC-1109		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Urban Contractors	First Offer - \$157.00	1683 / linear foot	\$264,231.00		Y		
Product Code: SC-1109		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Krapff Reynolds Construction Company	First Offer - \$291.00	1683 / linear foot	\$489,753.00		Y		
Product Code: SC-1109		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

OCWUT SC-110901-03 BASE BID: CCTV INSPECTION (PRE- AND POST-CONSTRUCTION)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Krapff Reynolds Construction Company	First Offer - \$6.25	2031 / linear foot	\$12,693.75		Y			
Product Code: SC-1109		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$10.00	2031 / linear foot	\$20,310.00		Y			
Product Code: SC-1109		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Urban Contractors	First Offer - \$10.00	2031 / linear foot	\$20,310.00		Y			
Product Code: SC-1109		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT SC-110901-04 BASE BID: SANITARY SEWER MANHOLE REHABILITATION						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Krapff Reynolds Construction Company	First Offer - \$200.00	54 / vertical foot	\$10,800.00		Y	
Product Code: SC-1109		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$200.00	54 / vertical foot	\$10,800.00		Y	
Product Code: SC-1109		Supplier Product Code	2:			
Agency Notes:		Supplier Notes:				
Urban Contractors	First Offer - \$200.00	54 / vertical foot	\$10,800.00		Y	
Product Code: SC-1109		Supplier Product Code	2:			

Agency Notes:

Г

OCWUT SC-110901-05 BASE BID: CLEARING AND G	GRUBBING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Krapff Reynolds Construction Company	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y
Product Code: SC-1109		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Urban Contractors	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Y
Product Code: SC-1109		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y
Product Code: SC-1109		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-110901-06 BASE BID: GPS AS-BUILT SURVEY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Urban Contractors	First Offer - \$3,000.00	1 / lump sum	\$3,000.00		Y			
Product Code: SC-1109		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y			
Product Code: SC-1109		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$5,100.00	1 / lump sum	\$5,100.00		Y			
Product Code: SC-1109		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-110901-07 BASE BID: POINT REPAIR					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$250.00	2 / each	\$500.00		Y
Product Code: SC-1109		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	2 / each	\$5,000.00		Y
Product Code: SC-1109		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$24,000.00	2 / each	\$48,000.00		Y
Product Code: SC-1109		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-110901-08 BASE BID: SEWER LEAKAGE TEST (<24 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Urban Contractors	First Offer - \$250.00	1 / lump sum	\$250.00		Y			
Product Code: SC-1109		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$500.00	1 / lump sum	\$500.00		Y			
Product Code: SC-1109		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Y			
Product Code: SC-1109		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT SC-110901-09 BASE BID: DEFLECTION TEST (<24 IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$250.00	1 / lump sum	\$250.00		Y				
Product Code: SC-1109 Supplier Product Code:									

OCWUT SC-1109 - tary Sewer	City of Oklahoma City a its Trusts	and		
Agency Notes:		Supplier Notes:		
Krapff Reynolds Construction Company	First Offer - \$500.00	1 / lump sum	\$500.00	Y
Product Code: SC-1109		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Matthews Trenching Co., Inc.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00	Y
Product Code: SC-1109		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT SC-110901-10 BASE BID: MANHOLE TESTING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y					
Product Code: SC-1109	Supplier Product Co	ode:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y					
Product Code: SC-1109		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$9,000.00	1 / lump sum	\$9,000.00		Y					
Product Code: SC-1109		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

OCWUT SC-110901-11 BASE BID: SEDIMENT AND EROSION CONTROL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y					
Product Code: SC-1109	Supplier Product C	ode:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y					
Product Code: SC-1109		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$10,500.00	1 / lump sum	\$10,500.00		Y					
Product Code: SC-1109		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

OCWUT SC-110901-12 BASE BID: RAISING MANHOLE (TYPE I)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$750.00	2 / each	\$1,500.00		Y					
Product Code: SC-1109 Agency Notes:	Supplier Product Code: Supplier Notes:									
Matthews Trenching Co., Inc.	First Offer - \$1,000.00	2 / each	\$2,000.00		Y					
Product Code: SC-1109 Agency Notes:	Supplier Product Co Supplier Notes:	ode:								
Krapff Reynolds Construction Company	First Offer - \$5,000.00	2 / each	\$10,000.00		Y					
Product Code: SC-1109 Agency Notes:		Supplier Product Co Supplier Notes:	ode:							

OCWUT SC-110901-13 BASE BID: CONSTRUCTION SIGNING AND TRAFFIC CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Matthews Trenching Co., Inc.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y				
Product Code: SC-1109	Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:							
Urban Contractors	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y				
Product Code: SC-1109		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Y				
Product Code: SC-1109		Supplier Product C	ode:						

Supplier Notes:

#### OCWUT SC-1109--01-14 BASE BID: SEWER SERVICE LINE Supplier Unit Price Qty/Unit **Total Price** Attch. Docs Urban Contractors First Offer - \$10.00 320 / linear foot \$3,200.00 Y Product Code: SC-1109 Supplier Product Code: Agency Notes: Supplier Notes: Krapff Reynolds Construction Company First Offer - \$31.00 320 / linear foot \$9,920.00 Υ Product Code: SC-1109 Supplier Product Code: Agency Notes: Supplier Notes: Matthews Trenching Co., Inc. First Offer - \$50.00 320 / linear foot \$16,000.00 Y Product Code: SC-1109 Supplier Product Code: Supplier Notes: Agency Notes:

OCWUT SC-110901-15 BASE BID: SEWER SERVICE CONNECTION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$200.00	32 / each	\$6,400.00		Y					
Product Code: SC-1109	Supplier Product Co	ode:								
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$750.00	32 / each	\$24,000.00		Y					
Product Code: SC-1109		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	32 / each	\$80,000.00		Y					
Product Code: SC-1109		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

OCWUT SC-110901-16 BASE BID: CONSTRUCTION STAKING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$100.00	1 / lump sum	\$100.00		Y				
Product Code: SC-1109	Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y				
Product Code: SC-1109		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$3,100.00	1 / lump sum	\$3,100.00		Y				
Product Code: SC-1109		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-110901-17 BASE BID: SEWER FLOW CONTROL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y					
Product Code: SC-1109	Supplier Product C	ode:								
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y					
Product Code: SC-1109		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Y					
Product Code: SC-1109		Supplier Product C	ode:							
Agency Notes:		Supplier Notes:								

OCWUT SC-110901-18 BASE BID: SANITARY SEWER MAIN (8IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$200.00	70 / linear foot	\$14,000.00		Y				
Product Code: SC-1109		Supplier Product Cod	le:						

#OCWUT SC-1109 - tary Sewer	City of Oklahoma City its Trusts	and			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$291.00	70 / linear foot	\$20,370.00	Y	
Product Code: SC-1109		Supplier Product Coo	Product Code:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$500.00	70 / linear foot	\$35,000.00	Y	
Product Code: SC-1109		Supplier Product Coo	de:		
Agency Notes:		Supplier Notes:			

OCWUT SC-110901-19 BASE BID: TRENCH EXCAVATION AND BACKFILL (0 TO 10 FEET)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$1.00	70 / linear foot	\$70.00		Y					
Product Code: SC-1109	Supplier Product Cod	le:								
Agency Notes:		Supplier Notes:								
Urban Contractors	First Offer - \$5.00	70 / linear foot	\$350.00		Y					
Product Code: SC-1109		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$15.00	70 / linear foot	\$1,050.00		Y					
Product Code: SC-1109		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								

OCWUT SC-110901-20 BASE BID: SOLID SLAB SODDING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$6.00	100 / square yard	\$600.00		Y
Product Code: SC-1109		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Urban Contractors First Offer Product Code: SC-1109 Agency Notes: Krapff Reynolds Construction Company First Offer - Product Code: SC-1109 Agency Notes: Matthews Trenching Co., Inc. First Offer - Product Code: SC-1109		100 / square yard	\$1,000.00		Y
Product Code: SC-1109 Supplier Product Code:					
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$10.00	100 / square yard	\$1,000.00		Y
Product Code: SC-1109		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT SC-110901-21 BASE BID: TRENCHLESS CONSTRUCTION (12 IN)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$180.00	278 / linear foot	\$50,040.00		Y
Product Code: SC-1109		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	278 / linear foot	\$56,990.00		Y	
Product Code: SC-1109		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company First Offer - \$341.00		278 / linear foot	\$94,798.00		Y
Product Code: SC-1109		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			

OCWUT SC-110901-22 BASE BID: Embedment Material					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$60.00	10 / cubic yard	\$600.00	Y	Y
Product Code: SC-1109		Supplier Product Coc	le:		
Agency Notes:		Supplier Notes: Bid b	ond attached to this li	ne item.	
Matthews Trenching Co., Inc.	First Offer - \$65.00	10 / cubic yard	\$650.00		Y
Product Code: SC-1109		Supplier Product Coc	le:		
Agency Notes:		Supplier Notes:			

OCWUT SC-1109 - tary Sewer	City of Oklahoma City its Trusts	/ and		
Krapff Reynolds Construction Company	First Offer - \$80.00	10 / cubic yard	\$800.00	Y
Product Code: SC-1109		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		

f Urban Conti		\$443,131.00 (22/22 iten	nc)
		· · ·	115)
Bid Contact	Amy Hampton urbancontr@aol.com Ph 405-478-5370 Fax 405-478-5618	Address 7113 N. Bryant Ave Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid bond has been uploaded in the Attachments section.		
Agency Notes:		<b>Supplier Notes:</b> Bid bond has been uploaded in the Attachments section.	Head Attch: J
f Matthews T	renching Co., Inc.	\$589,250.00 (22/22 items)	
Bid Contact	Gary Matthews pferguson@mtciokc.com Ph 405-677-4525 Fax 405-677-4835	Address <b>919 S Fairmont Ave</b> Oklahoma City, OK 73129	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		••	Head Attch 🎚
f Krapff Reyn	olds Construction Company	\$813,404.75 (22/22 items)	
Bid Contact	Jim King fred@krapff-reynolds.com Ph 405-733-9682 Fax 405-516-0081	Address 2400 N.E. 4th st Oklahoma City, OK 73117	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch

\*\*All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

**Supplier Totals**